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Lo E A | |5 9 . 24 I P N 100 _______ 6] ______ 16 I N 3] 1| 4
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B L axA_|_ 909 ____ 920 _ 1, 829 [ Ll axA_| 2,128 2, 172) 4, 300] [zmn | A& A_|_ ] 1, 152] 1,253] 2,405
L E A | 18 ¢ 9 27 L R A __ oA 11 L B Al __ 6l 4 10
at 927 929 1,856 at 2,135 2,176 4,311 at 1,158 1,257 2,415
843 8 13 864 1,782 3 of 1,791 1,029 4 44 1,037
FEPLL L_B A& A 1,032 ___ 968] 2, 000] |a= L_BAA_J__1,.7800__1.876] _3, 6086| |#mru L B AA_J_____ 868 _____ 954]__ 1,822
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935 10 5 950 1,728 15 6f 1,749 177 7 7 791
)11 LaxA_| 1,117 1,140 2, 257]sm L axA_J 1,520 1,589] 3,109 [se0m—= | A& A_|_ ] 1, 123] 1,216] 2,339
SREA | L1 _ 11 _____ 22 L_shBELA | ______ | I ) L6 LB A | ______ L3l __ Y 2.0
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Pl L_B A& A 14,5820 __1.5491 3, 131] | ram LoBAaA_J_ 1,380 _1.377)__2, 787 |»eom=p | AAA_|__1,187__1,186) 2,373
L E A | . 19 2 2 21 L E A | . |/ I ) R L7 LB A | L3 12f . 25
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g 940 2 11 953 L 235 235 112 | 113
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